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Question no. 1 is compulsory

(2) Solve any three questions from question no. 2 to question no. 6.
(3) Assume suitable data if required.

1. Solve any four questions.

(a)

(b)
(c)

(d)
(e)

State the properties of Laplace transform and derive differentiation prap&rﬂy ﬂf 4

Laplace transform.

Pooveifis [x(t)dt=oif x(t)isodd

Find Z -Transform of given signal and Sketch ROC

X (n)=2"u(n)+3"u [-n-1] -

Find the Fourier transform of two sided exponential signal .
Find the odd and even part of given signal / -
x(t) = (1+£%) (cos® 101) |

2. (a) Determine whether following Systems are static, linear, time variant, causal and stable 4

(i) y @ =x(t+10)+x* (1) .
(ii) y [n] =x [n’]

(b) Ifx, [n] and x, [n] are twa penodlc sequerices given below. Find the convolution 10
bem een them
xl [n] [ ]-:l '2: {]r 1]_ﬂnd J{] iﬂ] - [ ?., ]., ], 0]
1 i
3. (a) Find inverse Laplace transform for all possible Rocs. 10
&= S s =i
x(s
L 95216
(b) Findoutz' ofthe following signal. 10

R.0.C.is

8
1622 -4z +1
822 +2z-1 |z }E
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4. (a) Find trigonometric Fourier series of given x(t) signal 10
- ¥
| _,4526..[ =) )
oy VS
4 s
i 5",1{'—; s ’
Al . . >
1
(b) H(s)= (52 -‘16)(51 -9) : ). 10
Determine h (t) if ; A
(1) System is stable |
(ii) System is causal o
(ii1) System is neither stable nor causal® ),
. . o 10
5. (a) Sketch the following Signal 3 '
XM =u®)-r(t-1)+2r(t-2) - r (1-3)
+u(t-4) -2 u(t-5) i
4
(b) Find Laplace transform'effollowing and draw R.0.C 10
(1)  x(t) =sin (@t).ult) '
(i) x(t) =tu)* e u(t
.
6. (a) Find whether givens$ignals are energy or power signals
: 4 6
(i) x(n)=nTazd
a —Wan<9
(i) xOgAetu©
(b) Statethe ]:},iﬂaehlat conditions for the existence of Fourier series. 4
£\
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(¢) Determine whether following signals are periodic or not. It Periodic find Fundamental 4
period

On
(i) x(t)=2 Cos (?t]

(1) x(n)=Cos (0.0l tn) X
(d) Carry out the following operations on the signal shown in figure below. & 6

i) x(1-9
(i) [x(t) +x(1-t)] u (t-1) .

-----------------------
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